CHESTE R et 72 vl [55 o,

fogins

lagin: - HIGHLY ERIDIELE LAND CLASSES - HIGHLY ERDDIELE AND
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A1 3AGA AGA ALDING 1 100 Q.2 175 [ I = Q ] 100 400 O, 089 Q.42 =
SH13AGRE AGES ALDIND 1 100, 0.8 178 Q.3E e = = 100 400 Q.45 &
A13ASEZ ASBEE ALDING 1 100 Q.= 175 O.24 e (o] o= 100 400 Q.BT1 P
&13EDA EDA EEDFORD 1 100 0.2 175 0.a7 I (o} k] 100 400 0,371 =
& 13EDR EDE FEDFORD 1 100 (eI 175 QBT 3 ] = 100 400 WRE OLETL =
&1ZEDEE  EBDBEE EEDFORD 1 100 Q.3 175 Q.37 e ] ] 100 400 1,982 0.371 Pt
41 3BEA EEA BELTSVILLE 1 100 Q.2 178 O.43 i Q e 100 0,425 0,219 =
4 GIZEERE  RERZ BELTSVILLE 1 100 0.8 178 0.43 k] 3 = 100 1,288 0,219 by
&13R0 B EOWMMANSVILLE 1 100 0.5 175 O.32 4 Q = 100 Q. 0a% Q. 438 OVBT1 e
Gl1ZBREE  BREZ ERANDYW INE 1 100 Q.2 17% 0.z = 3 k] 100 Q287 1,988 z
&1ZERC ERC ERANDYWINE 1 100 .3 178 037 ] ] 18 100 Q.91 [ 1
G1IERCE  BRCE ERANDYWINE 1100 0.2 175 037 2 = 15 100 0.1 L I R 1
A13RERC2 . BRCE ERANDYWINE 1 100 0.2 175 Q.37 3 ] 15 100 Al .19 1
G13ERD ERD ERANDYWINE 1 100 [ 175 o] 15 28 100 11,720 1
Aa12BRDZ BRDZ ERANDYRWINE 1 100 Q.8 175 3 i5 P} 100 11,720 i
413BRDE  ERDZ ERANDYWINE 1 100 Qo 178 2 15 st 100 11.720 i
&12BRE BRE BRANDYWINE 1 100 0.8 178 3 e ] 40 100 B 1
&13ESE ESE ERANDYWINE 1 100 Q.2 178 2 Q = 100 i. =
&13BSD ESD ERANDYWINE 1 100 0.2 178 = b= 100 11.7 1
&13BSF ESF ERANDYWINE i 100 0.2 178 3 =5 50 100 SEL G 1
&13BTEZ RTES ERECKNOCE 1100 0.5 175 2 ] @ 100 i. =
613BTCZ  EBTCZ 1 100 0.3 175 2 2 L] fi. i
A13RTC2 BTCZ2 1 100 0.2 178 2 = ] ] I B 1
A13RTDE RTDE BRECE 1 100 0.8 178 2 158 Z8 Z 11.720 1
AL3BRTDE ETD: ERECE: 1 100 Q.8 175 i 15 o] = 11.780 1
A12RTEZ  RTES ERECHK 1 100 0.3 175 = 3 ] = 20,444 i
H1BREVE EVE ERECK 1 100 Q.2 175 e O = 5] 1.9RE b
& 12BVD EVD BRECH 1 100 0.2 . 175 2 2 25 Q 11.720 1
G1RARVE EVF BRECHK 1 100 0.5 175 = 8 e} 1] CLC ¥ 1
A1ZBXEEZ  EBXEZ BUCES 1 100 0.8 175 4 3 & 400 O 7 Z
. G13BYA BYA BUTLERTOKWN 1 100 0.2 178 ke (] 3 400 0,067 b
_”n A13BYREZ  BYEZ BUTLERTOWN 1 100 0.2 175 e 3 = 400 =87 Z
kI G13CAA CAA CALVERT 1 100 Q.8 175 3 o] k] 400 Q& bd
A13CAR CALR CALVERT 1 100 0.8 178 k] et o 400 =27 e
< 612CAEZ  CABZ  CALVERT 1100 0.8 175 3 = @ 400 0O.297
A12CDA CDA CHESTER i 100 [ 175 4 (8] e 400 Q& 3
. &13CDAZ  CDAZ CHESTER 1 100 0.8 175 4 o] e 400 0,067 &
! <13CDE (@303 CHESTER 1 100 Q.8 175 4 = = 400 Z
&13CDEZ CDBE CHESTER 1 100 Q.= 175 4 ] @ 400 =
“13CDES  CDEZ CHESTER 1 100 0.2 175 4 = & 400 z
&13CDC cDe CHESTER 1 100 0.2 175 ) = 15 400 1
A£13CDCZ  CDCE CHESTER 1 100 0. 175 4 = 15 400 i
&a13CDCE  CDCE CHESTER 1 100 0.3 175 4 ] 15 400 1
&1 3CGEER CGR CHESTER 1 100 0.2 175 4 (o] = 400 2
&13CG6EC CGC CHESTER 1 100 [y 175 4 = 15 400 i
X &13CH CH CHEWACLA 1 100 0.2 175 ; 4 o] = 400 2
V2 &12CKRE  CERBZ CHROME 1 100 0.2 175 0. 2 Rl o 400 =
612CKCE  CRCE CHRIOME 1 100 0.2 175 0. z o 1% 400 1
612CKEC3  CKC3 CHROME 1 100 0.3 175 = = 15 400 H.119 0,321 1
A1ECHEDE CEDE CHROME 1 100 0. = 175 e 17 el 400 11,720 1




CHROME 1 100 175 = 400 Cra

CHROME 1100 175 & 400 O

CHROME 1 100 178 = 40 [apei=h)

CONESTOGA 1 100 175 4 $ 3 0571

CONESTIIGA 1 100 175 4 0 e 0871
1 100 175 4 e b 400 OVl =
CONESTIIGA 1 17% 4 b=} 15 400 O.ETL i1
CIONESTOGA 1 175 4 o 15 400 0571 1
CONGAREE 1 [ 175 e (o] 2 400 Q.39 =
CONCIET NG 1 100 0.5 175 = O 2 400 Z
CONCIWI NGO 1 100 Q.8 175 ] 3 a8 400 e
CROTON 1 = 178 3 Q e 400 =
CROTON 1 = 175 e 2 = 400 =
EDGEMONT 1 = 175 o] e b 400 =
EDGEMONT 1 = 175 e ] = 400 =
EDGEMONT 1 k= 175 ] =) 5] 400 1
EDGEMONT 1 3 175 ] 2 = 3 100 400 Q.40 1
. EDGEMONT 1 + 175 = = = = 100 400 0420 1
SEDGEMONT 1 = 175 =t ] 15 28 100 400 Q.40 1
A1 BECDE EDGEMINT 1 ] 175 £ 3 15 [ 100 Q.40 1
S1ZECDE EDGEMONT 1 = 178 = 2 15 bt 100 Q420 1
A 13ECE EDGEMINT 1 = 175 = 2 =8 38 100 0. 420 1
ALAECES EDGEMONT 1 B 175 2 e e 100 0. 4920 1
A1ZEDE EDGEMONT 1 100 = 175 Q.15 e 4] 100 O.214 =
&12EDD EDGEMONT 1 100 = 17% e 2 Z5 100 O.214 1
A1 3EDF EDGEMIOINT 1 100 = 175 = =5 &0 100 O.%14 1
A1 3GEA GLENELG 1 100 0.5 175 ] 0 ] 100 0.420 =
A12GEAZ GLENELG 1 100 0.3 175 b 0 3 100 0. 470 e
E1RGER GLENELG 1 100 0.2 175 a3 3 = 100 Oudw0 =
A13GERE GLENEL.G 1 100 0.8 175 o @ = 100 400 [SIF- 3720 54
a1 3GERS GLENELG 1 100 (w3 178 3 = ] 100 400 0.490 =
&12GEC GLENEL.G 1100 0.2 175 k] = 15 100 400 B.11% 0,490 1
A13GECE GLENEL.G 1 (o 175 3 =] 15 100 400 B.l1% 0,470 1
A13GECE GLENELG 1 0.2 175 3 = 15 100 400 0,991 B.l1% 0.4 1
5 13GED GLENELG 1 0,8 176 = 15 =5 100 400 BEY 11,720 0,49 1
) 413GEDZ GLENELG 1 Q.3 175 3 15 o 1 100 400 11.7 Q.34%0 1
' G13GED3 GLENEL.G 1 Q. 175 3 15 = 100 400 11,780 0,420 1
&136EE GLENELG 1 Q.3 175 3 ] 100 400 EO.444 0,490 1
&13GEES GLENELG 1 Q.8 175 e Z8 100 400 Z0.444 0,490 1
H126GEAR GLENEL.G 1 0.5 175 3 8} 3 100 400 COLAEE O, 480 =
S13GEER:E GLENELG 1 0.2 176 e 2 = 100 400 1.982 0,429 =
. 4 12GMD GLENELG i 0.8 1758 3 15 i 100 400 11.780 O.%14 1
A1 3236ME GLENELG i Q.3 175 k] it 25 100 400 Z0.444 0.714 1
&1 3GENA GLENVILLE 1 0.8 1758 2 Q 3 100 400 O.425 0,429 =
&1 2GNE GLENVILLE 1 0.3 175 2 b o 100 400 1.982 0.42% &
{ E12GNEE GLENVILLE 1 0.8 178 3 3 ] 100 400 1.982 0,459 e
a1AGENCE GLENVILLE 1 0.8 175 ] ] 15 100 400 Q.91 B.11%9 0.48% 1
e &136GF GRAVEL FITS 1 0.8 175 100 40O0ERROR ERROR ERRIR ERRI
® A13GSE GLENVILLE 1 0.8 178 0 a 100 400 1.988 0.571 @
136U GUTHRIE 1 Q.3 175 : 8] e 100 400 O.43% 0,371 &
. A13HAAZ HAGERS TN 1 Q.= 178 4 o] ] 100 400 0.047% 0.4258 0.871 3
f A1 3HARZ HAGERS TN 1 0.2 178 4 ] ] 100 400 0,237 1.92232 0571 =
G13HACE HAGERS TN 1 Q.8 175 4 = 15 100 400 0.9%1 L B,.119 O.8T1 i
&1 3HAC HAGERS TOWN 1 0.5 175 4 & 15 100 400 0,991 B.11% O.571 1
( GIAHOEE HOLL INGER 1 0.8 175 e = =] 100 400 1LPEE 0.5 =
A1ZHOCE HOLL INGER 1 QL3 175 £ K b 15 100 400 .11 O.42% 1
S1aHOCE HOLLINGER 1 Q.8 175 e = o 15 100 400 S.11% 0.4 i
( A13HODS HOLL INGER 1 0.5 175 3E e 15 8 100 400 11.720 0.4 1
ALBHOESR HOLL INGER 1 0.2 175 3 I =8 il 100 400 ZO.444 0,457 1
» A12LAA LAWRENCE 1 0.2 17% 0.4 a 0 2 100 400 = &
(9 A1Z2LAE LAWRENCE 1 175 473 = 3 = 100 400 =
A13LER LEHIGH 1 175 a7 K e bS] 100 400 &
H13LERE LEHIGH 1 17% =7 ] 2 o 100 400 &
A13LEC2 L.EHIGH 1 175 27 : = 15 100 400 i
&13LHE LEHIGH 1 175 z i O = 100 400 ; : Z
& 12LHD LEHIGH 1 1785 e = 100 400 0,921 11.730 1
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E1IMORE MONTALTO 0.8 178 4 e

A1 EMOCE MONTALTO 100 0.5 175 4 =

AL EMOCE MONTAL T 100 0.8 175 4 &

A1EMIODE MOINTALTO 100 0.2 175 4 15

&1z MONTAL T 100 [ 175 4 8} e =
MONTALTO 100 0. 17% 4 & 8 ]

Gl MONTALTD 100 0.5 175 4 el 45 ]

&1 EMSRE MOIUNT LUCAS 100 0.3 175 = (o] o 0

&S13NAA NESHAMINY 0.5 178 4 Q = 3 ]

A1BNARE NESHAMINY 0.3 175 4 3 = ]

&1 ENAC NESHAMINY (a2 175 4 = [

A1ENACTE NESHAMINY 0.5 175 4 & =)

A 13NAD NESHAMINY [ =] 175 4 18 i

A1ENADZ NESHAMINY G.2 175 4 15 =8

A 13NSE NESHAMINY 0.3 175 4 O =

A13NSD NESHAMINY [ 175 4 = =8 400

513NSF NESHAMINY 0.2 17% 4 Z68 45 400

A120TA DTHELLD 0.8 175 3 0 e 400

“13FDA READINGTON 0.5 175 = (8] 2 400

A1ZFERR FENN 0.5 175 Z 3 = 400 =

A1ZFECE FENN 0.3 175 z = 15 400 1

G13FED: FENN 0.3 175 Z 15 s 400 TEO 1

ALBPMEE FENN 0.8 178 3 3 ] 400 L PEE =

G1EFMCE FENN Q.8 175 = 3 15 400 11w 1

G1APMCE FENN 0.8 178 3 5] 15 400 1

A 13FMD FENN Q.2 175 2 15 =5 400 1

A1EZFMDE FENN 0.8 178 ) 15 et 400 1

&13FNE FENN 0.2 1765 C b C = 0,571 =

&1:3FPND FENN 0.2 175 C ] g =5 0.5 1

& FENN 0.8 175 C ] edsd =0 LEdE O 1

G13FSES FENN 0.8 175 « ] 25 HE wddd 0042 1

a1 2F5ED FENN 0.2 175 C 3 S e 400 [ 1

&13FSF FENN 0.2 175 ( A i3 "0 4001 Q.4 1

&613PTEZ FENN 0.8 175 ¢ e 3 b 400 Q.4 =

A12PTRE LANSDALE 0.3 178 0 4 e b=} 0.

AH1IRTCE FENN 175 ] = & 5 0.4

A1ZPTCE LANSDALE 17% [» 4 & 5 0.

B1EPTCS FENN 175 [«} A = 5

A1ZPTCR L.ANSDAL.E 175 4 &
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&12u QUARRIES 175 ERROR ERRL
&1ZRDE READINGTON 176 = 2 = 400 0.Z87 1.9 &
A13RDEZ READINGTON 175 ] b 400 0. 1. =
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